B M6X20 (Active) - Pro/ENGINEER Wildfire 2.0

File Edit View Insert Analysis Info Applicat Tools Wind Help
05 ER IS0 Bo- BA-gaaEs

‘2890 a2/

>

* Coordinate Systems will not be displayed.

<

1 selected ;AI_I v 3

Nacrtamo npr. vijak M6x20 i Zelimo napraviti bazu vijaka M6 duljine izmedu 20 i 100mm



B M6X20 (Active) - Pro/ENGINEER Wildfire 2.0

File Edit View Insert Analysis Info Applications BLLIER Window Help
089 s B Eio

=B E‘;—‘ Relations... | w2 AR

Parameters...

Designate... { bR
Eamily Table...
#d
0
I
;
Model Player... el
Assembly Settings 1 9
&4 Play Trail/Training File... 7 2 i
i Distributed Computing... .. =
Pro/Web_Link
@ Mapkeys - i 3 ........
Floating Modules i 7
Auxiliary Applications S =]
# Environment § e ) .
= el
Server Registry.__. " )
Customize Screen... e N
4 Clear History ¥
Options S
Debug 52
: B
&
=g
£
Al

* Coordinate Systems will not be displayed. -

Create/modify part family table. 1 selected ;AII V 4




B Family Table :M6X20
File Edit Insert Tools
ILI]I]I( In: M6X20 w El:\:! ﬂja
<

This model currently has no family table design variations.

Select {j to add dimensional or feature parameter columns to
Select = to define instance model rows as design variation
substituting different values in the cells for those parame

f the current model,

s in each instance.

Open Cancel

Dodamo kolumnu




B M6X20 (Active) - Pro/ENGINEER Wildfire 2.0
File Edit View Insert Analysis Info Applications Tools Window Help
0 g

o
L= Ty

* Showing dimension d5 of feature 5 (PROTRUSION}), model M6X20.

-EEa Al RS

M EBE E &

Add ltem
@ Dimension
) Feature
) Merge Part

) Parameter
) Ref Model

All

_ DX
Filter

Dimension

) Group
() Pattern Table
O Other

= [E
Select 1 item.

Selektiramo dimenziju koju variramo, u ovom slu¢aju 20 — ok



B Family Table :M6X20

File Edit Insert Tools

Look In: M6X20 SR i T ile

Type Instance Name :5
M6X20 20.000000
M6X30 30
M6X40 40
M6X50 50
M6X60 60
M6X70 70
M6X80 80
M6X90 90
M6X100 100

= Open

Kliknemo na M6x20 1 stisnemo Enter (najlaksi nacin za upis novog reda) — upiSemo oznaku vijka i pripadajucu dimenziju.




B Family Table :M6X20

File Edit Insert Tools
Look In: M6X20 vE ¥ BB T B O s oo O GO CE
|Verify instances of the familyi

Type Instance Name

M6X20
M6X30
M6X40
M6X50
M6X60
M6X70
M6X80
M6X90
M6X100

Cox |/

Klik na ikonu Verify instances of the family — ProE provjerava jesu li modeli matematicki korektni.




B Family Tree

Tree Edit
|Verification Status
MG6X20.PRT
MG2X30 Success
MG6X40 Success
MB6X5H0 Success
MG6X60 Success
MGX 70 Success
MG6X80 Success
MG6X90 Success
MG6X100 Success

Ako je sve u redu dobijete neSto ovako. Snimimo model i kod slijedeceg otvaranja dobijemo:




M Select Instance [Z|

By Name By Parameter

MEX30
MG6X40
MG6X50
MG6X60
MEX 70
MG6X80
MG6X90
M6X100

Instance The generic

The generic je osnovni model M6x20. Selektiramo vijak koji trebamo i to je to ©







